pass 1/6 #& R| s=t:500

I B URMREKERRIE CIK)

s FEER © E/

| R =RILRR

T = &R =RMIURHEX

LERKELEESEER=REHH

X M| (3) s=1:500

LI 2R th X
B2/KE ¢ 200

Bk HPPE ¢ 200 287280

+T@ L=285. 64m DP=0. 70m +I® L=1. 640m DP=0. 70m

285640 1640

No. 12+19. 335
DP=0.70

77777

No, 18+4, 975
DP=0.70
No. 18+6. 615
DP=0.70

©1000 DP2. 41

AN

777777

wwwwww

%




100
900

1
1

LI 2R #h [X

T EROR

/,

m

Fl -

1:100
1:500

V;
H

$I%E 3IRX)

R

8
RILK

LIIES: 1R

P

e (3)

B LRBREKER

ol

I
T 3 6T

&

pmss| 2

| ]

Hozo {9902z (H9€ 12z (H000 006 (HS9L'L (8L ON
Hozo Hosozz [Hov'1zz [{S€Z 268 [H60€ 2l ( SSdI
Hoz o {0602z [Ho09'tzz (926 6.8 [H IvZ 92 (H ¥Sdl
_ Hozo Hoe'tzz [Hoo'2zz ({589 €S8 (HSB9 '€  ( £Gdl
‘ Hozo Hee tzz (Heo'zgz (H000 088 HEGL'S  HLLON
/ Hoz o H8z tzz (86 12z (108 ¥¥8 205 'Sl ( 2Sdl
‘ Hozo Hez tze [He6'1zz  [HS0e 628 HELO'S  H 1Sdl
» Hozo Hoz'tzz [Ho6 12z (262 ¥28 H800'S  ( 0Sdl
\ Hozo Hez 1zz [Hee'1zz [Hvez 618 HL00'S  H 6bdl
Hoczo Hietzze H1o'zze Heitzvis Hvoo'6  H 8vdl
\ \\ Hozo Hes'1zz 6222z [HELO V08 HELO Y  H Lbdl
Hozo H¥e 1zz vy zzz (H000 008 [H808'ZL (9L ON
Hozo Hozzzz [Ho6'zzz (Hz6l (8L HEo8 Ll H 9vdl
Hozo H¥szez [Hve'€ez [H68E SLL [H68E 'SZ (H Sbdl
o
B
ok
E
=]
3 5
| —
e
g8
E| N
S| ©f
Sl w
5| &
S| =
S
1) gml Hozo Hze'€zz ({20 b2z [H000 0SL [H98L '8E [HSL ON
X
3| &
I
sy
w
a
a
=
|
®
m
e
Hozo Hsevez [HS0'Szz HwI8 LiL Hvis Ll H prdl
Hozo 69 ¥z [{6€'Szz (H000 00L [HSSS'E (vl ON
Hozo H18'v2z [H1S'S22 Sy 969 6008  H £bdl
Hozo {6052z [H6L'Szz [H9Ew 889 669 02 ( Zbdl
Hozo H¥6 52z [H¥9 92z [HLEL 199 H969 0L H Lbdl
Hozo Hse9gz [HS0'Lgz H w0 LS9 HIvO 'L  H Ovdl
Hozo Hes 92z (Hez L2z (H000 059 HOEO'S  HEL ON
Hozo Heo9zz [Hee'rzz [HoL6 vv9 026 'Sl H 6edl
Hozo Ho0'zzz [HoL'rzz (050629 HSvS €L H 8edl
= oL°0 ev 12z | |61 822 505 '519 | |59 0
&R —H oz o Hsvizz Hsl'8ge [Hovl vl9 Hoes 0 H
M oloHes b H .92z vz 8zz [Hole €19 Ho88'0 H
.______#. QS[es L HvL92¢ [L¢'82¢ []0£0°€l9 HOE80 [
=[]0z 0 09 °12g [|o0€ ‘822 00z ‘219 []002 2t
4 S8
N Wmu\
h ES
izl s
#K e
A mViHos o (26 Lzz ({89822 (H000°009 H6LY 8L [zl ON
o 8 g g g g 3
g : 00L: 1 O i i i # by
) =] O o T o wl| O = o i
? < ) %) N N o o ‘
. ~ N N N N sdll . H o g 4
% - "
o - R A =
(=) == A =
R o ; = =




pass {/? # R| s=1:100

T B| LRERKEARIE CIRX

o8| mwm @ E e
B R4 ZRILRER
T = &P ZERFILUREX

LERKELEESEER=REHH

D=50. 000

NO. 14
GH=225. 39
Fh=
4850
1030 3820
DL=225.00 \\_/—
-
BKE
HBPE 6200
D=50. 000
NO. 13
6H=227.23
FH=
4400
930 3470
S
S
D
DL=225. 00 ke
HPPE 200
D=50. 000
NO. 12
GH=228. 68
Fi=
6060
840 4200 1020
8¢ !
5 BEEREIKE
s 00 ot 6100
DL=235.00

0 (2) s=1:100
LI Hh X

D=50. 000

_NO.17

GH=222.03
FH=

5010

p4Q 4470

DL=220. 00
BKE
HPPE ¢ 200

D=50. 000

_NO. 16

6H=222. 44
Fh=

5020

910 4110

I P

D

D

DL=220.00 EkE
HPPE 6200

D=50. 000

NO.15

GH=224. 02
Fh=

5510

720, 4790

EKE
HPPE 200

DL=220.00

DL=220.00

DL=220.00

_NO.19

6H=220. 09
Fh=

V 4950

730, 4220

700

EKE
HPPE 200

D=50. 000

NO.18

GH=221. 36
FH=

4820

670, 4150

BRKE
HPPE ¢ 200




pass % # R | s=NoNsCALE Eﬂﬁégifﬁﬂ] (4) S=NONSCALE
T B| LRBREKEREIIE CIR)

IKE ¢ 200
B o3|  mexe= o |§ e REKE S
| ZRIUKE
T 36T =RMIURHR

LERKELEESEER=REHH

ik HPPE 200 287280

1T @ L=285.640m DP=0. 70m I @ L=1.640m DP=0. 70y
285640 1640
- 2 = 2 2 I
&l 2 = 2 = L s
ANiEA200 HskL
%
EFY 47y b 6200 * A8 ¢ 200

EFZO{FE E 6200 5,000 N=57 PEHELAfTY 7 b — L5 ¢ 200

HPPEZ )% ¢ 200 x 1000




E%%’

5 7 | r| sz

I #BlURBREAKEHARIE CIR)
6| mempasER E///
| =RILKRE

T == & =RMLRHX

LERKELEESEXE=REHH

EXAEYREIWMTE B s=1:20

=
>3

ﬂ
gu}
\
s
= P
2
o B
e
juj
o

0 | =g o
| Re-40 | B
N \J\!ﬁi g
= ) &
/&Eﬁx g *
Dr=3,9594%= "+ W l 8
Rk HPPE
Og D 0P H hi h 1
BAE WPE | 6200 | 250 00 | 105 | 1010 | 210 600

X RAGEEENETEOLOTRELTHY, SHICHESTHRRT S L4

EEELBBOLETIAEERE LRAIEREITS L,

X AERINEREETRITHAGAR BERICHET S L.

RANBIES LRVERR

X HBEE0.3mET B, f 12 LEHEEA U T
DHEARERHRET B,

_EH  mE_
% ABE
BB ay RE BERHETRAY
S 2 M-30 I oig
S8 ReH40 =

TBTEEEER BR FReE

4.00

BEMRH2 Y

FI I HEEELH

1.50

T SHAKERYR— b

2.50

1.50

B E X

| B 3
TRBIR2. OnBL T

2.00

=<

AR H

FI I HEEELH

N ‘

0.50

i

FISEKELSR—b

BEHAXR2Y

. 20mAH

RAR




Fwss] [ | s 2 % R B B (3) S-NONSCALE 1

I | URRREAEARTIE GIR) = )

7o sEREEO ﬁ/ xR 2
B R4 ZRILRER
T = &FT ZERFILUREX
LERKELEES XM= REHH

FEEG)
S

& o
Y
\\\Q
\\\
=N
(&a]
D

IR () W=15cm L=243. 48m

@ A= 709.155 m

{8148 (E) W=15cm L=33. 195m
2
(CADEHEI & W)

gV N
-

%\9 -g—r%\

W
W

®. G\‘?ﬂ

GELES

11

L = 30.665 + 50.00 + 50.00 + 50.00 + 50.00 + 50.00 + 6.615 = 287. 28m
BEfRFET
# B W=15cm

L = 243.48 + 33.20 = 276. 68m

X (O )REER. UHRETRYT .




